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Spreading fast

The worm slowly spread until July 19, when
the number of computers attacking networks
skyrocketed. Now, the worm is hibernating,
ready to re-infect Aug. 1.

280,000 # of infected servers

Source: Chemical Abstracts Service
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Zadanie: oblicz punkt rownowagl

k-1 n-1
k jest punktem réwnowagi <= Z a; = Z @;
i=0 i=k+1
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Zadanie: oblicz punkt rownowagl

k-1 n—1
k jest punktem réwnowagi <= ) a;= ) a;
i=0 i=k+1

ROZWiazaﬂie: int equi(int *A, int n) {
int 1i;
long long d = 0;

// Obliczenie wartosci d_0O
for (i = 0; i < n; ++1i)
d += A[i];

// Poszukiwanie punktu réwnowagi
for (i = 0; i < n; ++i) {
if (d == A[i])
return 1;
d -= 2 x A[i];
}

return -1;
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Zadanie: oblicz punkt rownowagl

k-1

k jest punktem réwnowagi <= Z a;

Rozwiazanie:

=0

int equi(int *A, int n) {
int 1;
long long d = 0;

// Obliczenie wartosci d_0
for (i = 0; i < n; ++1i)
d += A[i];

// Poszukiwanie punktu réwnowagi

for (i = 0; i < n; ++i) {

if (d == A[i])
return 1;

d -= 2 x A[i];

return -1;
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Zadanie: oblicz punkt rownowagl

k-1

k jest punktem réwnowagi <= Z a; =
1=0 i=k+1

Rozwiazanie:

int equi(int *A, int n) {

int 1;
long long d = 0;

// Obliczenie wartosci d_0
for (i = 0; i < n; ++1i)
d += A[i];

// Poszukiwanie punktu réwnowagi

for (i = 0; i < n; ++i) {

if (d == A[i])
return 1;

d -= 2 x A[i];

}

return -1;
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